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=5 227 166 135 44 3.7 32
=% (K% [BEHrVENR] 8 7 5 2 3.5 32
£ (0B) 2 2 1 0 - 32
% (F3) 0 - - - 45
RN 4 3 3 1 3 32
BE 5 3 3 2 1.5 32
1t 0 - - - 32
e BX 1 1 1 0 - 32
{5 3 3 2 1 3 32
B 1 1 1 0 - 32
I EM 0 - - - 39
BEH (5 8) 0 - - - 45
BEH (8 A) 0 - - - 45
BiERm (1 0A) 1 - 1 1 45
RAEEET 15 13 12 4 3.3 32
SHBA 37 29 12 4 7.3 32
HE (Bafset) 18 16 10 3 5.3 32
7% [HBRREGTR] 138 127 26 5 25.4 49
=% [THEBRBRENR] 97 87 25 5 17.4 49
P TR [BBRENR] 5 4 4 3 1.3 49
BE [BREER] 2 2 2 0 49
#i [(BREER] 1 1 1 1 1 49
BR [BBREWNR] 3 3 3 0 - 49
=B (BX - 5 37 30 10 2 15 29
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BE (EX - ) 1 0 - - 29
g (EX - &) 1 0 - - - 29
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REHZBL [(BBRENR] 13 13 10 3 4.3 49
HHEHE (REFTAES) 16 13 9 3 43 35
REeEE [BRENR] 11 11 6 1 11 45
BhEEED 4 4 4 2 2 44
EEED 13 13 9 7 1.9 39
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